

Riesterer & Schnell Inc.

3200 S Cty Rd. P Denmark, WI 54208 Phone: 920-863-2181 www.rands.com Hortonville, WI 920-757-6101

Neenah, WI

920-751-8787

Chilton, WI 920-775-4146 Denmark, WI 920-863-2181 Pulaski, WI 920-822-3077 Marion, WI 715-754-2254

Pound, WI Shawano, WI 920-897-4089 715-526-3012

Z

Antigo, WI 715-627-4455

Stratford, WI 715-687-4138

920-533-8391

Campbellsport, WI

Fond du Lac, WI Stevens Point, WI Westfield, WI 920-921-4042 715-592-4300 608-296-2191

Invoice To Account No: Deliver To:

SERVICE INVOICE

Internal Used Stock No. 119577	Internal Used Stock No. 119577	Invoice Number:	2331499
		Invoice Date	12/15/2022
		Location:	5
		Work Order Number:	382188
		Payment Type:	Account
Bus Phone:	Bus Phone:		
Prv Phone:	Prv Phone:	Page:	1 of 6

Make/Model:	Meter	Serial Number:	EQ Id:	Fleet No:
2011 JOHN DEERE WINDROWER	1439	1E0R450XCBB370667	08370667	

## \*WRASI Internal

COMPLAINT:

Windrower Annual Service Inspection

CAUSE:

CORRECTION:

SPG \*WRASI Annual Service Ispection Windrower

Labor \$299.14 Misc \$19.86 Total \$319.00

Job Total: \$319.00 Parts: \$19.86 OL&M:

**GEN 1** Internal

COMPLAINT:

**REPAIRS** 

CAUSE:

CORRECTION:

Dakota's time for 10/6 was to get machine started for gene

used 20 qts bulk 15 40 engine oil

Used 6 qts bulk 80 90 gear lube

Serviced machine, changed engine oil and filters, fuel filters, cab and engine air filters, hydraulic filters. Changed planetary hub oils. Changed gear box oils on platform.

Removed bad cutter bar, salvaged the skid plates that were in like new condition. Cleaned off mounting surfaces, installed new cutter bar assembly. Retained with new hardware and torqued to spec. Installed new cutter disks, knives, accelerators and hardware. Installed new filler hose and breather hose, checked oil level. Installed new skid plates and hardware.



Riesterer & Schnell Inc. 3200 S Cty Rd. P Denmark, WI 54208 Phone: 920-863-2181

www.rands.com

Neenah, WI 920-751-8787 Antigo,WI

Hortonville, WI

920-757-6101

715-627-4455

920-921-4042

Fond du Lac, WI

1E0R450XCBB370667

Denmark, WI 920-863-2181

Stratford, WI

715-687-4138

715-592-4300

Stevens Point, WI

08370667

Chilton, WI

920-775-4146

Pound, WI 920-897-4089

Pulaski, WI

920-822-3077

Campbellsport, WI

920-533-8391

Westfield, WI

608-296-2191

Marion, WI 715-754-2254

Shawano, WI 715-526-3012

IOHN DEEDE

Invoice To Account No:	Deliver To:	SERVICE INVOICE

invoice to 7 toocant 140.	Donvor 10.		<b>U</b> L	
Internal Used Stock No. 119577	Internal Used Stock N	lo. 119577	Invoice Number:	2331499
			Invoice Date	12/15/2022
			Location:	5
			Work Order Number:	382188
			Payment Type:	Account
Bus Phone:	Bus Phone:			
Prv Phone:	Prv Phone:		Page:	2 of 6
Make/Model:	Meter	Serial Number:	EQ ld:	Fleet No:

1439

Removed and replaced conditioning hod along with new hardware.

Installed new conditioning tines where they were missing. Replaced tines that were severely worn.

Installed forming shield adjusting hardware.

2011 JOHN DEERE WINDROWER

Replaced burnt out light bulbs. Replaced right hand flasher on platform.

Right hand flashers were not working. Found customer had wiring spliced on head to make right flasher work with left flasher. Repaired splice. Tested wiring circuits and found cab controller failed causing right side not to work. Installed new cab controller and programmed, tested and flashers now work correctly. Calibrated cab controller addresses to match machine options.

Replaced hydro neutral start switch and adjusted hydro cable neutral position.

Replaced missing hardware in floor mat.

Cleaned out debris in engine air filter housing so it would latch properly.

Quoted \$37,035 plus additional diagnostic time and parts for flasher issue requiring replacement of controller.

<u>PartNumber</u>	<u>Description</u>	Quantity	Net Price	Extended Price	Taxed Ind
03M7184	8M X 20	16.00	\$0.81	\$12.96	N
03M7188	8M X 40	1.00	\$1.27	\$1.27	N
03M7198	12M X 30	6.00	\$1.56	\$9.36	N
03M7209	16M X 60	2.00	\$5.47	\$10.94	N
03M7372	12M X 20	8.00	\$1.85	\$14.80	N
11M7028	COTTER PIN	6.00	\$0.68	\$4.08	N
11M7028	COTTER PIN	-2.00	\$0.49	-\$0.98	N
14M7328	16M LOCK NUT	12.00	\$3.02	\$36.24	N
14M7328	16M LOCK NUT	-1.00	\$2.67	-\$2.67	N
14M7396	8M LOCK NUT	1.00	\$1.08	\$1.08	N
15H623	PIPE PLUG	1.00	\$4.34	\$4.34	N
19M7814	12M X 50	4.00	\$3.79	\$15.16	N
19M7817	12M X 70	18.00	\$5.11	\$91.98	N
19M7818	12M X 80	2.00	\$4.97	\$9.94	N
19M7819	12M X 90	14.00	\$5.56	\$77.84	N
24H1378	WASHER	8.00	\$2.32	\$18.56	N
24H1378	WASHER	-8.00	\$1.90	-\$15.20	N



Riesterer & Schnell Inc. 3200 S Cty Rd. P Denmark, WI 54208

Phone: 920-863-2181 www.rands.com Hortonville, WI Chilton, WI 920-757-6101 920-775-4146

Neenah, WI

Antigo, WI

920-751-8787

715-627-4455

Fond du Lac, WI

Denmark, WI 920-863-2181

Stratford, WI

715-687-4138

Pulaski, WI 920-822-3077 Pound, WI Marion, WI 715-754-2254

Pound, WI Shawano, WI 920-897-4089 715-526-3012

Campbellsport,WI 920-533-8391

JOHN DEERE

920-921-4042 715-592-4300 608-296-2191 JOHN DEERE SERVICE INVOICE

Stevens Point, WI Westfield, WI

Invoice To Account No:	Deliver To:	SERVICE INVOIC		
Internal Used Stock No. 119577	Internal Used Stock No. 119577	Invoice Number:	2331499	
		Invoice Date	12/15/2022	
		Location:	5	
		Work Order Number:	382188	
		Payment Type:	Account	
Bus Phone:	Bus Phone:			
Prv Phone:	Prv Phone:	Page:	3 of 6	

1 IV I Hone.		1 1 1 1 110110.				i ago.		0 01 0
Make/Model:			Meter	Serial Number:	EQ ld:		Fleet No:	
2011 JOHN DEER	RE WINDROWER		1439	1E0R450XCBB3706	67 08370667			
24H1724	WASHER				2.00	\$1.51	\$3.02	N
24M7047	WASHER				8.00	\$0.83	\$6.64	N
37M7058	SCREW				1.00	\$1.02	\$1.02	N
A32044	BOLT				22.00	\$1.71	\$37.62	N
A49465	BUSHING				2.00	\$3.10	\$6.20	N
AE26352	Pressure Relief Fitting				2.00	\$4.09	\$8.18	N
AE70632	DISK				8.00	\$121.03	\$968.24	N
AE73088	STRIPPER				2.00	\$307.86	\$615.72	N
AFH202431	Electronic Control Unit				1.00	\$1,712.28	\$1,712.28	N
AFH203602	Cutterbar				1.00	\$14,404.53	\$14,404.53	N
AFH205983	HOOD				1.00	\$1,918.20	\$1,918.20	N
AFH212445	Hose				1.00	\$64.96	\$64.96	N
AFH213195	LAMP				1.00	\$184.76	\$184.76	N
AFH216812	CUTTERBAR				8.00	\$160.56	\$1,284.48	N
AFH216813	CUTTERBAR				-5.00	\$177.21	-\$886.05	N
AFH216814	Cutterbar Wear Plate				1.00	\$162.74	\$162.74	N
AH115833	AIR FILTER				1.00	\$80.40	\$80.40	N
AH128449	HYDRAULIC FILTER				1.00	\$79.47	\$79.47	N
AH161154	Switch				1.00	\$64.21	\$64.21	N
AH208904	BULB				2.00	\$19.03	\$38.06	N
AH90990	Clip				1.00	\$4.00	\$4.00	N
AR69445Q	HYD OIL				25.00	\$5.40	\$135.00	N
AT300487	FILTER ELEME				1.00	\$74.01	\$74.01	N
AT314583	FILTER ELEME				1.00	\$44.53	\$44.53	N
E125436	Angle				1.00	\$139.06	\$139.06	N
E125438	Angle				1.00	\$139.64	\$139.64	N
E126401	PIN				4.00	\$14.90	\$59.60	N
E63525	8M LOCK NUT				16.00	\$0.90	\$14.40	N
E63527	12M LOCK NUT				45.00	\$1.78	\$80.10	N
E63527	12M LOCK NUT				8.00	\$2.17	\$17.36	N
E80242	12M LOCK NUT				20.00	\$0.68	\$13.60	N
E80866	12M X 20				32.00	\$1.84	\$58.88	N
E98137	ACCELERATO				4.00	\$31.00	\$124.00	N
E98138	ACCELERATO				4.00	\$31.00	\$124.00	N
E98183	16M X 80				12.00	\$6.70	\$80.40	N



Bus Phone:

Riesterer & Schnell Inc. 3200 S Cty Rd. P Denmark, WI 54208

Phone: 920-863-2181 www.rands.com Hortonville, WI Chilton, WI 920-757-6101 920-775-4146

Neenah, WI

920-751-8787

Denmark, WI 920-863-2181 Pound, WI 920-897-4089

Pulaski, WI

920-822-3077

Marion, WI 715-754-2254

Shawano, WI 715-526-3012

Antigo,WI Stratford,WI Campbellsport,WI 715-627-4455 715-687-4138 920-533-8391

JOHN DEERE

Fond du Lac, WI Stevens Point, WI Westfield, WI 920-921-4042 715-592-4300 608-296-2191

Invoice To Account No:	Deliver To:	SERVICE INVOICE	Ξ
Internal Used Stock No. 119577	Internal Used Stock No. 119577	Invoice Number: 2331499	

| Internal Used | Stock No. 119577 | Invoice Number: 2331499 | Invoice Date 12/15/2022 | Location: 5 | Work Order Number: 382188 | Payment Type: Account | Bus Phone:

Prv Phone: Prv Phone: Page: 4 of 6 Make/Model: EQ Id: Meter Serial Number: Fleet No: 2011 JOHN DEERE WINDROWER 1439 1E0R450XCBB370667 08370667 E98183 16M X 80 -2.00 \$7.10 -\$14.20 Ν FH302483 12M X 38 21.00 \$2.48 \$52.08 Ν CAP FH303250 12.00 \$8.01 \$96.12 Ν FH304871 1.00 \$536.13 \$536.13 Ν Angle Plate \$94.95 \$759.60 FH312151 8.00 Ν Tine FH312154 12.00 \$30.64 \$367.68 Ν FH312154 Tine -1.00 \$32.48 -\$32.48 Ν FH312221 Strap 8.00 \$19.77 \$158.16 Ν FH313555 **BOLT** 20.00 \$5.03 \$100.60 Ν Mower Blade \$2.92 FH323281 10.00 \$29.20 Ν FH323282 Mower Blade 10.00 \$2.93 \$29.30 Ν **BULB** H133384 2.00 \$3.39 \$6.78 Ν H154937 **TORSION SPRI** 1.00 \$12.06 \$12.06 Ν Breather \$26.12 \$26.12 H216169 1.00 Ν H220870 AIR FILTER 1.00 \$49.56 \$49.56 Ν H33801 HOSE FITTING 1.00 \$23.12 \$23.12 Ν SMV EMBLEM PLASTIC JD5929 1.00 \$16.47 \$16.47 Ν JD7844 **LUBRICATIO** 1.00 \$1.31 \$1.31 Ν NUT M84309 4.00 \$1.30 \$5.20 Ν N105572 **SNAP RING** \$2.39 \$4.78 2.00 Ν OMFH309376 Operator's Manual 1.00 \$63.00 \$63.00 Ν **SCREW** \$1.95 R52760 3.00 \$0.65 Ν RE179326 **BULB** 1.00 \$10.90 \$10.90 Ν **BULB** RE179326 -\$11.55 -1.00 \$11.55 Ν RE504836 OIL FILTER 1.00 \$21.09 \$21.09 Ν RE522878 FILTER ELEME 1.00 \$34.95 \$34.95 Ν RE541922 FILTER ELEMENT 1.00 \$34.92 \$34.92 Ν T25308 Hose 1.00 \$45.70 \$45.70 Ν T29342 WASHER 12.00 \$2.92 \$35.04 Ν TY22466 CLAMP \$2.32 2.00 \$1.16 Ν TY25624 AG GREEN SPRAY PAINT 2.00 \$13.61 \$27.22 Ν TY26268 PRIMER SPRAY 2.00 \$10.75 \$21.50 Ν PLUS-50 II OIL 15W40 CJ4/SN TY26685Q 20.00 \$6.65 \$133.00 Ν TY26813Q 85-140 OIL PER QUART 8.00 \$11.09 \$88.72 Ν TIE BAND TY27064 2.00 \$0.10 \$0.20 Ν



Internal Used Stock No. 119577

Riesterer & Schnell Inc.

3200 S Ctv Rd. P Denmark, WI 54208 Phone: 920-863-2181 www.rands.com

Prv Phone:

Hortonville, WI 920-757-6101

Neenah, WI

Antigo, WI

920-751-8787

Chilton, WI 920-775-4146 Denmark, WI

920-863-2181

Stratford, WI

715-687-4138

Pulaski, WI 920-822-3077

Marion, WI 715-754-2254

Pound, WI Shawano, WI 920-897-4089 715-526-3012

Campbellsport, WI JOHN DEERE

5 of 6

Fond du Lac, WI 920-921-4042

715-627-4455

Stevens Point, WI 715-592-4300

Westfield, WI 608-296-2191

Page:

920-533-8391

Invoice To Account No: Deliver To:

SERVICE INVOICE 2331499 Internal Used Stock No. 119577 **Invoice Number:** Invoice Date 12/15/2022 Location: Work Order Number: 382188 Payment Type: Account Bus Phone:

Make/Model: Serial Number: EQ Id: Fleet No: Meter 2011 JOHN DEERE WINDROWER 1439 1E0R450XCBB370667 08370667

TY5021	TAPE ELECTRICAL	1.00	\$5.23	\$5.23	N
TY6252Q	80W90 OIL	6.00	\$8.95	\$53.70	N
TY6341	POLYUREA GREASE	1.00	\$6.92	\$6.92	N
Z24696	NUT	2.00	\$43.07	\$86.14	N
<u>Miscellaneous</u>	<u>Description</u>	Quantity	Net Price	Extended Price	Taxed Ind
3750	FREIGHT	1.00	\$67.88	\$67.88	N

Labor: \$4,863.36 Parts: \$25,041.50 OL&M: \$0.00 Misc: \$67.88 Sub-Total: \$29,972.74

## \*199wash Internal

COMPLAINT:

Bus Phone:

Prv Phone:

03 Wash Utility Tractors, Tractors 2Wd and MFWD, Windrowers, and Sprayers

CAUSE:

CORRECTION:

Wash Utility Tractors, Tractors 2Wd and MFWD, Windrowers, and Sprayers

Machine washed Cab windows cleaned sweep cab floor

Job Total: \$199.99

**Customer PO No:** Tax Exempt No:

Advisor: **STACY** 

**KUCHENBECKER** 

Labor: \$5,325.35 Parts: \$25,069.68

OL&M: \$0.00 Misc: \$96.70 Sales Tax: \$0.00

> Total: \$30,491.73



2011 JOHN DEERE WINDROWER

Riesterer & Schnell Inc. 3200 S Ctv Rd. P Denmark, WI 54208

Phone: 920-863-2181 www.rands.com

Hortonville, WI Chilton, WI 920-757-6101 920-775-4146

Neenah, WI

Antigo, WI

920-751-8787

715-627-4455

Denmark, WI 920-863-2181

Stratford, WI

715-687-4138

Pound, WI 920-897-4089

Pulaski, WI

920-822-3077

Campbellsport, WI

920-533-8391

Marion, WI 715-754-2254

Shawano, WI 715-526-3012

JOHN DEERE

6 of 6

Fond du Lac, WI Stevens Point, WI Westfield, WI

920-921-4042 715-592-4300

1E0R450XCBB370667

608-296-2191

08370667

**SERVICE INVOICE** Invoice To Account No: Deliver To: 2331499 Internal Used Stock No. 119577 Internal Used Stock No. 119577 **Invoice Number:** 12/15/2022 Invoice Date Location: 5 Work Order Number: 382188 Payment Type: Account

Bus Phone: Bus Phone: Prv Phone: Prv Phone: Page: Make/Model: EQ Id: Meter Serial Number: Fleet No:

1439

## **TERMS AND CONDITIONS**

Received by:	Date:
NECEIVED Dy	Date